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HYNSY - SH2HMUFY HIIHE 30,000,000
4330 L AlZell 580,000 580,000 0
4331 LAI=¢ 130,000 130,000 0
JI= <Y Al==E>
- Al E 130,000,000
4332 Al ZH 450,000 450,000 0
018 3t <A HHI>
-YANEBE L FH 450,000,000
4400 WEAHIE 1 1 0
4420 JIEtu =288 1 1 0
4421 o 1 1 0
018 3t <FEa>
~HEEX 1,000
4600 OflHIH] 1 1 0
4610 OflHIH] 1 1 0
4611 Oft1H 1 1 0
FAMDSE - oyl 1,000
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AE - HlE 0l &A

<K &> (&5l : dQ)
= o = (%)—. 01I(%)—. e & 2 2 A (299 &)
1200 S XF2FJ|EFRFAF 1,434,000 1,684,000 A250,000
1260 2oD|I=2=e 1,434,000 1,684,000 A250,000
1263 oA=I |2 X 1,321,600 1,571,600 A250,000
o/ <goA=IIZ Me>
-A220ta42dl Jla &g 500,000,000
-YoA=I|Ia 301K HY 800,000,000
BN - doH=) |2 21,600,000
1264 Lol&s)|2 MY 102,400 102,400 0
ol <gomst)|Z e
-2oFEsllag 301k A 100,000,000
BHWNSI - o) 2= 2,400,000
1265 2olg =) |2 HE 10,000 10,000 0
oI <olgx)Iz Ha>
-2oE IS 301k HY 10,000,000
1300 DAEXHAONLI K= 965,790 815,000 150,790
1310 SEDH XA X 965,790 815,000 150,790
1314 J12.917 OHLHI 293, 190 0 293, 190
gdusdE - 4= HEH 1510 203,850,000
- ZoA YHozdEH 1004 41,500,000
- Zo4 dsA38 64 3,000,000
- oA SEFHY(HI) 1,400,000
- oA MAA 72(34 120ME) 43,440,000
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AE - HlE 0l &A

<Xl &> (&t : &9)
I} =2 20198 | 8 @ £ | z(a)2
- Ol &F oM | Off &F oH & F 2 A (g9 &)
2 gt = (A) (B) (A - B)
1315 ™Il HIZ DL 15,000 15,000 0
HdUFE - HUHFE HIIHIEZERY 15,000,000
1319 &I H = 657,600 800,000 | A 142,400
pIEn <HEIAE>
-StMEE=EXZ S EA ¥ =E S A 203,000,000
—STMESES A2 dHg )| AX3 Ak 133,700,000
22 d2HIOIe FILE X S At 50,000,000
SdUFE - LoAS LoauoAH &X 75,900,000
- Z2AS LA EE N SAL 195,000,000
Z0l olg X2 2,255,969 2,808,462 |  A552,493
X 2X&=A 13,850.,812| 15,562,266 | A 1,711,454
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